�PRIVATE ��

	CIA INTERNATIONAL JURY



	TEST 4 - SENIOR LEVEL







This test is designed to make sure that you understand the event scoring to the extent that you are required to verify and approve the results. (Sporting Code General Section 4.3.2.7.2)

Questions on this test may also relate to Gas Balloon and Roziere Balloon scoring.





1.	The final results of a task show that:



		P = 102	M = 51	RM = 11.39	SM = 510	W = .65



	Based on Formula ONE (Rules 14.2 & 14.3), what is the SCORE of a pilot who has a RESULT of 1.46?

				a)	944

				b)	963

				c)	971





2.	Which Ranking Group do pilots with NO RESULT come under?



				a)	Group C

				b)	Group A

				c)	Group B





3.	In 
Annex
 1, what is the result for the Median pilot?



				a)	520

				b)	90.80

				c)	3.82





4.	What is the difference between task penalty points and competition penalty points?



				a)	None, just different names

				b)	task points can reduce points below zero

				c)	competition points can reduce points in the task below zero, task penalty points can only reduce the task score to zero





5.	When two competitors have equal total scores in the event, which one will be ranked higher?



				a)	the competitor with the lower competition number

				b)	the competitor with the smaller difference between his best and worst scores

				c)	the one who wins the toss of a coin





6.	When does the definition of RM change?



				a)	when more than 5 pilots are DQ'd

				b)	in the event that half the pilots do not make a valid launch

				c)	in the event that fewer than half the competitors achieve a result in the task



�

7.	In 
Annex
 2, each pilot with NO RESULT received 275 points. How was this number calculated?



				a)	by taking 50% of the points earned by the lowest position with a result

				b)	by dividing the remaining points available under formula 2

				c)	by tawng the number of NO RESULTS and multiplying by the      constant 7.237





8.	In AA & AM Balloon competition, a Great Circle distance is the shortest arc of a great circle passing through the given points, defined by their geographical coordinates. For this purpose, the Earth is considered to be a sphere of radius R, which equals?



				a)	R = 3440.4nm

				b)	R = 6371.0km

				c)	R = 6378.245km





9.	The final results of a task show that:



		P = 71	M =36	RM = 371	SM = 507	W = 0.40



	Based on Formula One (Rules 14.2 & 14.3) what is the SCORE of a pilot who has a RESULT of 84.41?

				a)	897

				b)	888

				c)	862





10.	A pilot threw his marker in a task, in violation of rule 12.11 (AX UMRs). By doing so his result gave him first place in the task. The Director decided this was too much of acompetitive advantage and penalized him 500 task points. Was he correct?



				a)	yes

				b)	no

				c)	he can use his own discretion





11.	The Launch Period end at 19:30hrs. One pilot is late taking off (he had problems with his parachute top) and launches at 19:35:10hrs. How many penalty points is the Director required to give him?

				a)	1200 competition points

				b)	1200 task points

				c)	600 task points 





12.	A pilot violates Rule 3.8 by not having competition numbers on his second crew vehicle. The Director determined that this unidentified vehicle was able to give the competitor a competitive advantage in the task. Under the rules, was the Director able to penalize the pilot?



				a)	no, there is no penalty specified in rule 3.8

				b) yes, under rule 10.5

				c) yes, under rule 13.2
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13.	Gas ballooning results involve the use of longitude and latitude to calculate distance measurements. Distances are Great Circle distances. What is a "Great Circle"?



				a)	one that is too large to describe

				b)	a Rhumb line

				c)	a circle on the surface of the earth whose centre and radius are  those of the earth itself





14.	How many points do competitors make in a task when they are grouped in Group C of the Ranking Order?

				a)	250

				b)	0

				c)	Any points left over after Groups A & B have received their        points.





15.	Formula 2, as shown in AX UMR's is,  

	

		Points = 1000 x (P+1-L)/P	Where P = 86 and L = 76, 



	how many points would pilot L receive?



				a)	128

				b)	138

				c)	148





16.	As a Jury Member, where would you expect to find detailed information on each individual competitors result in a given task?



				a)	task sheet

				b)	Observer sheet

				c)	printed results 





17.	As defined in the Sporting Code, what are long distances measured in?



				a)	Kilometre (km)

				b)	Metre (m)

				c)	Nautical Mile (nm)





18.	There are questions at an event that the software does not make accurate distance calculations from the coordinates that are entered into it. What is the easiest way to verify the accuracy?



				a)	write new software

				b)	enter coordinates of known distances and check results

				c)	check source code of software
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The questions on this part of the test are not multiple choice. The CIA's interpretation of the General Section of the Sporting Code is that you have a very thorough knowledge of scoring. These questions are designed to reflect that interpretation. Answer each question in detail on a separate piece of paper.





19.	
Annex 
3 shows the task results for a task with 29 balloons. As required by the Sporting Code the formula element results are printed at the top.



	Are they correct?



	If you think they are correct, then explain why P/2 rounded up (15) does not agree with RM and SM?





20.	In 
Annex
 
3, pilots number 4, 21, 25, 33 all received distance penalties.

	

	How do you know what their actual result was before penalties?



	Do these penalties affect other pilots scores (points)? If yes, how?





21.	In 
Annex
 3, what relationship does the score of pilot number 11 (result 45.9m) have with W and RM?





22.	Formula 3 has been added to the Scoring Formulas. Why will Directors be more comfortable calling tasks with Limited Area Scoring, in Championship Events, with this added formula in the rules?





23.	You are the President of the Jury at a World Gas Championship. Part of a flight is a Maximum Distance. The Observer report sheet shows the following for Pilot #7:

	

	Take-Off  	Olds Didsbury  	N53o43.0'  W114o07.0'

	Landing   	Atlee          		N50o50.5'  W110o57.5'

	

	It shows his result shown is 240.23km. How do you verify this is correct?





24.	Explain UTM grids.  What are they and how do they work?





25.	You are President of the Jury at a Continental Championship. You are verifying the results and you are checking the results of Pilot #34.



		On a Judge Declared Goal the Goal is at Coordinates 42103180

		His Observer report sheet shows his marker was recorded at Coordinates 42253230

		His result is recorded as 986m.



	Explain how you go about verifying that this result is accurate.
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NAME____________________________________________________





If you are not thoroughly familiar with the Sporting Code, you will probably need a current copy of Section 1, the General Section and the Model Event Rules (or UMRs) to enable you to answer the test questions. Copies of the Sporting Code are available from the FAI Ballooning Commission Internet Web Site 



http://www.fai.org/~fai/ballooning/



from your Balloon Federation or from your National Aero Club. If you have a problem obtaining them ask your CIA Delegate for assistance.



Accurate scoring and reporting results is the most important phase of all competition. If you are not thoroughly familiar with event scoring you should try to attend some National and International Events in a scoring team capacity such as a debriefer or assistant scorer. Observer experience will also help you. Experience as a Steward is very helpful in all phases of Event officiating. Most questions in this paper relate to AX scoring, however several relate to Gas and Roziere competition. If you have any problems ask your CIA Delegate for assistance.



Each question has a correct answer of either a, b or c. Circle the correct answer for each question and send this page only to:



Hans ÅKERSTEDT

Sveavägen 19b

S-181 60 Lidingö

Sweden

			

To pass this test, your result must be better than 90%





1.	a  b  c			 7.	a  b  c			13.	a  b  c 





2.	a  b  c			 8.	a  b  c			14.	a  b  c





3.	a  b  c			 9.	a  b  c			15.	a  b  c





4.	a  b  c			10.	a  b  c			16.	a  b  c  





5.	a  b  c			11.	a  b  c			17.	a  b  c





6.	a  b  c			12.	a  b  c			18.	a  b  c





Submit questions 19 through 25 on a separate piece of paper.







Date: ___________________________________    Signed: ________________________________________





ANNEX 1







FINAL RESULTS





P = 25	
	
M = 13	
	
RM = 90.80	
	
SM = 520	
	
W = 3.82





�PRIVATE ��RANK�PILOT�RESULT�POINTS��1�7�3.82�1000��2�6�4.02�999��3�27�8.01�977��4�12�14.08�943��5�10�16.30�931��6�26�17.87�922��7�20�34.10�833��8�17�39.99�800��9�19�40.40�798��10�4�57.66�703��11�23�66.24�656��12�1�72.87�619��13�14�90.80�520��14�11�12.27�480��15�3�141.74�440��16�8�167.83�400��17�2�191.38�360��18�15�278.65�320��19�5�279.81�280��20�25�282.65�240��21�24�300.00�200��22�22�384.84�160��23�18�465.80�120��24�9�865.00�80��25�21�1010.00�40��



�

ANNEX 2



FINAL RESULTS



P = 71	
	
M = 33	
	
RM = 580.00	
	
SM = 549	
	
W = 0.40



�PRIVATE ��RANK�PILOT�RESULT�POINTS��1�50�0.40�1000��2�69�0.49�1000��3�8�2.05�999��4�16�2.47�998��5�28�5.84�996��6�1�7.57�994��7�26�8.16�994��8�59�9.89�993��9�65�12.23�991��10�43�25.08�981��11�36�29.26�978��12�20�48.88�962��13�6�68.91�947��14�58�82.63�936��15�22�113.98�912��16�57�139.00�892��17�2�155.55�879��18�10�202.68�843��19�68�210.00�837��20�54�217.00�831��21�67�232.10�820��22�71�267.00�793��23�48�305.00�763��24�62�319.00�752��25�38�340.00�736��26�44�394.00�694��27�5�402.00�688��28�14�432.00�664��28�27�432.00�664��30�24�475.00�631��31�29�530.00�588��31�40�530.00�588��33�7�580.00�549��34�3�NO RESULT�275��34�4�NO RESULT�275��34�9�NO RESULT�275��34�11�NO RESULT�275��34�12�NO RESULT�275��34�13�NO RESULT�275��34�15�NO RESULT�275��34�17�NO RESULT�275��34�19�NO RESULT�275��34�21�NO RESULT�275��34�23�NO RESULT�275��34�25�NO RESULT�275��34�30�NO RESULT�275��34�31�NO RESULT�275��34�32�NO RESULT�275��34�33�NO RESULT�
2
75��34�34�NO RESULT�275��34�37�NO RESULT�275��34�39�NO RESULT�275��34�41�NO RESULT�275��34�42�NO RESULT�275��34�45�NO RESULT�275��34�46�NO RESULT�275��34�47�NO RESULT�275��34�49�NO RESULT�275��34�51�NO RESULT�275��34�52�NO RESULT�275��34�53�NO RESULT�275��34�56�NO RESULT�275��34�60�NO RESULT�275��34�61�NO RESULT�275��34�63�NO RESULT�275��34�64�NO RESULT�275��34�66�NO RESULT�275��34�70�NO RESULT�275��34�72�NO RESULT�275��70�18�NO RESULT�275��70�55�NO RESULT�275��

�ANNEX 3



FINAL RESULTS



P = 29		M = 15		RM = 279		SM = 517	
	
W = 3.10



�PRIVATE ��RANK�PILOT�RESULT�POINTS�TASK

PENALTY�COMP.

PENALTY�NET

POINTS��1�17�3.10�1000� 0�0�1000��2�27�3.50�999� 0�0�999��3�20�7.60�992� 0�0�992��4�2�22.30�966� 0�0�966��5�6�23.40�964� 0�0�964��6�35�36.95�941� 0�0�941��7�11�45.90�925� 0�0�925��8�19�59.73�901� 0�0�901��9�32�70.00�883� 0�0�883��10�29�145.00�752� 0�0�752��11�30�156.00�732� 0�0�732��12�3�185.80�680� 0�0�680��13�13�50.00�918� 250  9.1.3�0�668��14�9�279.00�517� 0�0�517��15�26�331.00�483� 0�0�483��16�16�386.00�448� 0�0�448��17�15�421.00�414� 0�0�414��18�24�453.00�379� 0�0�379��19�28�233.00�598� 250  9.1.3�0�348��20�10�804.00�345� 0�0�345��21�31�835.00�310� 0�0�310��22�25�1230.00�276� 0   13.4 DIST. P�1144m�276��23�23�1449.00�241� 0�0�241��24�22�1914.00�207� 0�0�207��25�4�3660.00�172� 0   13.4 DIST. P�3600m�172��26�33�6408.00�138� 0   13.4 DIST. P�6400m�138��27�5�7184.00�103� 0�0�103��28�36�7305.00�69� 0�0�69��29�21�10850.00�34� 0   13.4 & 12.2�5000m�34��
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